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Revision Month-3

Q.No.1 Encircle the correct answer from the following choices.
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i. Which figure shows 1 ?
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ii.

Identify the pair of unlike fractions:
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iii. Which one of the following is an improper fraction? ?c". .,».bﬁfduié_‘ﬂul
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20 12 5 45

iv.

Which one of the following is a proper fraction:
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Q.No.1. Solve: 1010 1010 u:/tf 1Ay
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QNo3. Solve: 41 () 441 gL 2
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Q.No.4. In a garden 12 of the trees are mango trees. In another garden 12
are mango trees. How many mango trees are altogether: “@)
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v. Fill in the blank with suitable symbol: (S Sl Gt e
1 1
'
(a) < (b) > (c) = d) €
2 12
. -t = 9
' 19 19
14 12 2 16
() 19 (b) 19 (©) 19 @ 19
L1 7,
VII. 11 11
-6 6 - S
(@) 11 (b) 11 © 11 @ 11
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viii, g *<90=?
() 65 (b) 55 © 75 () 85




